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N 2,595,000
= 1,412,000
401 Al HI L £ 0HHI 4,007,000 0 4,007,000
N 2,595,000
= 1,412,000
01 Al& H| 3,997,658 0 3,997,658
OHoHAEH|AIS 3,997,658, 000& « 14! 3,997,658
Xl 2,585,658
= 1,412,000
03 AlIE 201 Y| 9,342 0 9,342
OdotAE Yl ALY 2,595,000,000 *0.36% 9,342
Xl 9,342
SAMTR_E S PA2E 10,000 0 10,000
= 5,000
= 5,000
201 et | 7,000 0 7,000
= 3,500
= 3,500
01 AP 22| H| 7,000 0 7,000
Ox=NMIGJAESPYE CHHEX T AX| 7,000
= 3,500
= 3,500
202 o4 | 3,000 0 3,000
= 1,500
= 1,500
01 2Ll 3,000 0 3,000
S=MTGR_ESPE AEfIAF & 22 3,000
= 1,500
= 1,500
oH¥Ed 28 595,200 355,800 239,400
= 22,000
N 276,000
= 297,200
SHMH Dl Hel 3,200 0 3,200
201 LBt | 3,200 0 3,200
01 AP 22| d| 3,200 0 3,200
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S A ol L= AtDE
M olotaEHY|
Sl Y 2 CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZANNS sfgMdlxel ZHl SRz
600,000& *23] 1,200
QLMY I EAZE (0, &22S) Y
500,000 43| 2,000
oHItel MIHAFS 10,000 0 10,000
= 10,000
307 2iz2to| & 10,000 0 10,000
= 10,000
02 QI AAIE E X 10,000 0 10,000
Odimtel MHAIL 10,000
= 10,000
ol LMD HAEGHE X 72,000 0 72,000
N 36,000
= 36,000
401 A& HIZL £ 0HY| 72,000 0 72,000
N 36,000
= 36,000
01 Al& H| 72,000 0 72,000
OdfLMY Dl SaEIE AX AFY 72,000
Xl 36,000
= 36,000
TS QMY Dl =04 80,000 0 80,000
Xl 40,000
= 40,000
307 2Iz2t0| & 80,000 0 80,000
Xl 40,000
= 40,000
05 QIZ2tREF 2 80,000 0 80,000
OXgs A HSHIIS =0HAIY 80,000
Xl 40,000
o 40,000
HAEBSEMEAS 30,000 0 30,000
2 12,000
= 18,000
307 2izto| A 30,000 0 30,000
= 12,000
= 18,000
05 QIZ2tR E 2 30,000 0 30,000
OSAIE EHIMNEAS 30,000
= 12,000
= 18,000
MYMY I H A 200,000 0 200,000
N 100,000
= 100,000
101 e1214| 100,000 0 100,000
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S A off 2 ==4tmt
M olotaEHY|
Sl Y 2 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Xl 50,000
s 50,000
4 JI2ZtHZ22EE = 100,000 0 100,000
O &M Dl =1 elAH] 95,000
X 47,500
s 47,500
OdMEE= 5,000
Xl 2,500
s 2,500
201 L2l 95,000 0 95,000
Xl 47,500
e 47,500
01 At 22l 95,000 0 95,000
OocedMe Il Hel ==2 95,000
X 47,500
s 47,500
206 M= Hl 5,000 0 5,000
Xl 2,500
[ia 2,500
01 =8l 5,000 0 5,000
Oofl M) FAES 7 5,000
Xl 2,500
[ia 2,500
FRUZ HEMY I =H ALY 200,000 0 200,000
Xl 100,000
s 100,000
307 glz2+ol & 200,000 0 200,000
Xl 100,000
s 100,000
05 RIZt2E = 200,000 0 200,000
ORPAUE HSMY I =HAEY 200,000
X 100,000
s 100,000
JhRE HOHME S X4 640,000 0 640,000
= 640,000
HES TSI MY 640,000 0 640,000
= 640,000
OIS S#Zd 500,000 0 500,000
= 500,000
307 21201 A 500,000 0 500,000
= 500,000
05 RIZt2IE = 500,000 0 500,000
OltSHE S3HMEA 500,000
= 500,000
SHEHEY SZHA 140,000 0 140,000
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S M ol 2= A}
M RS MBS XA
Sl M EA=HAY (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 140,000
307 212t0| & 140,000 0 140,000
= 140,000
05 A2t E = 140,000 0 140,000
OZSLLME SHHINLALL 140,000
= 140,000
HESH A (o) z=4at0) 182,858 191,153 N8,295
oA 2AY| 78,356 93,998 N 15,642
ol A4 H| 78,356 93,998 N 15,642
101 @121l 78,356 89,798 N 11,442
01 24 74,688 86,316 N 11,628
OANZRAI222E HHEZ(20H) 22,076
- 53 11,5913 x 1 x10A| 2+ x 12& 1,391
— 62 9,886 x10H x10Al 2t 12& 11,864
73 8,930& *4H x10A| 2t*x12& 4,287
— 83 8,017 *2H *10A| 2tx12& 1,925
- 92 7,2473 «*3H x10A| 2t 128 2,609
Oxh22< 9, 1342 x 16 *30A| 2+ x12& 52,612
02 JIEt& E £ 3,668 3,482 186
OFIAF(1Y) 3,668
—ANRARRLY(FUER)
77,6413 «1H *10A| 2tx 128 917
—x2U22Le 7,641 *1H x30A| 2tx 128 2,751
Jl2&Hl 104,502 97,155 7,347
Jl23Hl 104,502 97,155 7,347
201 LBt | 73,332 70,555 2,777
01 At 22l ] 64,552 64,362 190
Ogbt4==2H| =M H A 20,602
OS2 H SHHA 19,700
O (52d) 24,250
— 25 50,0003 x1H »120 6,000
- =4 50,000 » 1 365 18,250
02 332494l 8,780 6,193 2,587
03322 % MA 3,480
— A8slE2 Y E8E= 600, 000& = 1CH 600
—HEIIZES 222= 80,0003 *3 Ax12& 2,880
ONFFIXNSK BEE 700,000& ~1CH 700
OA8SE ANEFFFH| 2,800,000& = 1CH 2,800
O0s JIIZE(MXI) 1,200
OBt O2ZEU &Y 3322
50,000& 10 A+ 12& 600
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2N
X ZH -
L= B

el

oH 22t
#HSAAY (WL
e

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
202 04l 25,970 26,600 A 630
01 SLHOYI 25,970 26,600 A 630

O30 (ZLH) 17,150
O=uUcbI(22) 8,820
203 &R =AY 4,200 0 4,200
VEVEFEEEST 4,200 0 4,200
ORNM2IERFL 350,000 122 4,200
405 XHAHE S| 1,000 0 1,000
01 AL ESFH SH 1,000 0 1,000
OSMAIEI 2 1,000, 000 *1CH 1,000
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